3. What type of bonding would be expected for each of the following materials:

a. Solid Xenon Vowa Am, Waals (SCWAWW&) ianee Be N se st ?f.;\g

b. Calcium fluoride (CaF) ?(&AOanr\“*a Wnie, e Ca wil\ (L;mlfb
1 dechons o F
c. Tungsten? wedulie, snee b ¢ o %’V\.&L}_ ervent Wl an w\f:\\ul

el .

e e

cveeds 1 e b il dhe = bl
Fr[He) 1o abe



4. Problem 1.7, parts (a) and (b) only.
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Derivation for Exam #1  Please be sure to show all of your work, with comments
where necessary to make your derivation easy to follow. Try not to use your notes
from class or the book (but if you get stuck, it might help you to read over Kasap
section 1.4.1).

a) By considering a gas in a cubic container, derive an expression that relates the
pressure (P), volume (V), and number of molecules (N) to the average kinetic

energy per molecule [%m;i).

: : s . N
b) By comparing the expression above to the empirical gas equation PV = —RT
A
obtain a relationship between the average kinetic energy per molecule and

temperature (7).
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